12a0143 (K12a0143)

’7 Linearized knot diagam
s ? R

Solving Sequence

11/

510»6%11%7 312»2~>1—>4~>9—>8%>03,C7,612
Cs

A knot dlagranﬂ Clp Ce €11 C2 €1 €4 Cg
Ideals for irreducible component#ﬂ)f Xpar
= (—u™ —u® b+ 1, 0+ 19+ ra—1, w2+ 1)

={b+1,a+1, uvd—u?—2u+1)

* 2 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (—u**—u®®+. . +b+1, —u?®+19u?*+..-4a—1, u*5+2u*+.. . +u—1)

(i) Arc colorings

utt +ut + o —19u3 + 3u
u44+u43+.__+u_1
u® — 4ud + 3u
u’ —5u® +6ud —u
2utt 4 2u*3 4 - 4 4u® + 3u
utt a4 2u—1
wll — 8u? + 22u” — 2445 + 93 >

aq =

ag = \ 13 — 9yt + 20949 — 40u” + 22u® — 3ud + u

ut — 3u? +1
as = \ub — 4u* + 3u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 5u®* + 4u*® + ... — 4u — 19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u®® 220t o TAu 41
Co,Cy u®® — 4t 4+ 6u+1
C3,Cs P — M 4120+ 8
Cs5,C6, C1 u® — oM w1
€10, C11, C12
Co u®® + 8ut + -+ + 409u + 55




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y* +6y* + -+ 4358y — 1
C2,C4 Yyt —22yM Ay — 1
€3, 8 y* 4+ 21y* .-+ 16y — 64
Cs5,C6, C1 y* — 64yt - 4+ 13y — 1
C10,C11, C12
Co g 4yt g

— 43479y — 3025




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

= 0.962969 + 0.1696031
= 0.440533 — 0.9586451
0.692370 + 0.6774471

—0.28984 — 2.316071

—13.48731 4 4.069071

0.962969 — 0.1696031
0.440533 + 0.9586451
0.692370 — 0.6774471

—0.28984 + 2.316071

—13.48731 — 4.069071

—1.148590 + 0.0713921
0.801348 + 0.4946791
—0.427212 — 0.4864891

—5.22276 4 0.372041

—1.148590 — 0.0713921
0.801348 — 0.4946791
—0.427212 4 0.4864891

—5.22276 — 0.372041

1.176560 + 0.2110871
—0.653062 + 0.1880781
0.348834 — 0.8558871

—2.36170 — 5.173271

1.176560 — 0.2110871
—0.653062 — 0.1880781
0.348834 + 0.8558871

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

—2.36170 4 5.173271

u =

0.763709 + 0.2515281
a = —0.0103561 — 0.12590901
b= 0.955005 — 0.5466751

—1.03136 + 2.410211

—15.6897 — 1.67741

u= 0.763709 — 0.2515281
a = —0.0103561 + 0.12590901
b= 0.955005 + 0.5466751

—1.03136 — 2.410211

—15.6897 + 1.67741

1.191250 + 0.1240361
—1.094580 + 0.3105851
= —1.252440 + 0.1988031

—7.65311 — 1.991961

1.191250 — 0.1240361
= —1.094580 — 0.3105851

w
a
b
u
a
b= —1.252440 — 0.1988031

—7.65311 4 1.991961




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —1.191140 + 0.1637301
= —0.78548 — 1.962541
—1.029290 +- 0.5040981

—6.91071 4 4.517851

—1.191140 — 0.1637301
—0.78548 + 1.962541
—1.029290 — 0.5040981

—6.91071 — 4.517851

1.219810 + 0.2290161
1.09073 — 1.619801
1.150280 + 0.6091421

—4.75327 — 10.586901

1.219810 — 0.2290161
1.09073 + 1.619801
1.150280 — 0.6091421

—4.75327 4 10.586901

—1.316520 + 0.0695821
0.845369 + 0.1388431
0.949980 + 0.3821131

—7.86567 — 1.430411

—1.316520 — 0.0695821
0.845369 — 0.1388431
0.949980 — 0.3821131

—7.86567 4 1.430411

—0.503453 4 0.4594701
0.37795 + 2.464301
1.101250 — 0.6102241

0.78058 + 8.202641

—13.8836 — 9.33491

—0.503453 — 0.4594701
0.37795 — 2.464301
1.101250 + 0.6102241

0.78058 — 8.202641

—13.8836 4 9.33491

—0.432497 + 0.4436371
—1.29853 — 0.730791
0.428503 + 0.7893421

2.77707 + 2.939871

—10.12479 — 5.188791

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g

—0.432497 — 0.4436371
—1.29853 + 0.730791
0.428503 — 0.7893421

2.77707 — 2.939871

—10.12479 + 5.188791




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= 0.442889 + 0.3496101
= 0.03028 + 3.064901
= —0.954541 — 0.4308461

—1.64546 — 2.765751

—16.0685 + 7.38741

= 0.442889 — 0.3496101
= 0.03028 — 3.064901
—0.954541 + 0.4308461

—1.64546 + 2.765751

—16.0685 — 7.38741

—0.147862 + 0.5126391
—1.34459 — 1.276171
= 1.043660 + 0.6048801

1.83508 — 4.996281

—10.28872 + 3.318371

= —0.147862 — 0.5126391
= —1.34459 + 1.276171
= 1.043660 — 0.6048801

1.83508 + 4.996281

—10.28872 — 3.318371

= —0.229805 + 0.4715971
= —0.25152 + 1.936431
= 0.527284 — 0.7323251

3.37526 + 0.107601

—7.61315 — 2.951771

—0.229805 — 0.4715971
= —0.25152 — 1.936431
0.527284 + 0.7323251

3.37526 — 0.107601

—7.61315 4 2.951771

= —0.426938 + 0.2425471
= —0.516634 — 0.8303321
= —1.145690 — 0.1331701

—2.39909 + 0.708241

—15.1495 — 9.14711

= —0.426938 — 0.2425471
= —0.516634 + 0.8303321
= —1.145690 + 0.1331701

—2.39909 — 0.708241

—15.1495 + 9.14711

= 0.181432 + 0.3111551
= 2.35597 — 1.250701
= —0.825100 + 0.2930521

—0.905303 + 0.4337351

—12.18552 4 1.892921

= 0.181432 — 0.3111551
= 2.35597 4 1.250701
= —0.825100 — 0.2930521

—0.905303 — 0.4337351

—12.18552 — 1.892921




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 0.346739
a= 1.01677
b= —0.122928

—0.548092

—17.9540

u = —1.73488 + 0.015561
a= 0.165858 4 0.7989421
b= 0.805113 — 0.7678771

—10.02540 +- 2.837881

u = —1.73488 — 0.015561
a= 0.165858 — 0.7989421
b= 0.805113 + 0.7678771

—10.02540 — 2.837881

u= 177511+ 0.020231
a= 0.581848 — 0.5273041
b= —0.425874 + 0.6283461

—15.9251 — 0.78721

uw= 177511 —0.020231
a= 0.581848 4 0.5273041
b= —0.425874 — 0.6283461

—15.9251 4 0.78721

u = —1.77793 + 0.052241
a = —0.414828 — 0.2117071
b= 0.314583 4 0.9097471

—13.1145 + 6.31531

u = —1.77793 — 0.052241
a = —0.414828 4 0.2117071
b= 0.314583 — 0.9097471

—13.1145 — 6.31531

u= 1.78253 + 0.040851
a = —0.78346 + 1.570931
b= —1.063730 — 0.5457291

—17.7770 — 5.41651

u= 1.78253 —0.040851
a = —0.78346 — 1.570931
b= —1.063730 4 0.5457291

—17.7770 + 5.41651

u = —1.78292 + 0.031661
a = —1.096720 — 0.1158191
b= —1.302410 — 0.2213451

—18.5397 + 2.68261




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

—1.78292 — 0.031661
—1.096720 4 0.1158191
—1.302410 4 0.2213451

—18.5397 — 2.68261

—1.78906 + 0.058701
1.08096 + 1.262421
1.181650 — 0.6116001

—15.7314 4+ 11.87401

—1.78906 — 0.058701
1.08096 — 1.262421
1.181650 + 0.611600.1

—15.7314 — 11.87401

1.81198 + 0.015901
0.970531 — 0.0912021
0.989237 — 0.314096.1

—19.4518 + 1.03841

>~ @ €| @ 8|l @ 8| & 8| o 8

1.81198 — 0.015901
0.970531 + 0.0912021
0.989237 + 0.3140961

—19.4518 — 1.03841




IL. Iy =(b+1, a+ 1, ud —u?>—2u+1)

(i) Arc colorings

aq =

ag =

o= (1)

(ii) Obstruction class =1

(iii) Cusp Shapes = —u? +u — 17
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
3
C1,C2 (u — 1)
C3,Cg u3
Cy 1 3
(u+1)
€5, C6, C7 ud —u? —2u+1
Co
3 2_9 1
€10, C11, C12 u” +u” —2u—

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3
C1,C2,C4 (y_l)
C3,C8 y3
Cs5,C6, CT
#—5y® +6y—1
€9, €10, C11 Yy Y Yy
C12

12



(vi) Complex Volumes and Cusp Shapes

Solutions to IY V—1(vol ++/=1CS) Cusp shape

u = —1.24698

a = —1.00000 —7.98968 —19.8020

b = —1.00000
u = 0.445042
a = —1.00000 —2.34991 —16.7530

b = —1.00000

u= 1.80194

a = —1.00000 —19.2692 —18.4450

b = —1.00000

13



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u—1)%)(u 4 22u™ + - + Tdu + 1)
e ((u = 1)) (u® =4 4 - 4 6u + 1)
3, Cs wd(u® —u 4 120+ 8)
€4 (w4 1)) (u —4u* + - 4 6u+1)
cs, Cg, C7 (u —u? —2u+ D) (u® —2u* + - Fu+1)
Co (u® — u? — 2u + 1) (u®® + 8u* + - -+ + 409u + 55)
€10, C11, €12 (u® +u? —2u—1)(u®® —2u™ + - Fu+1)

14



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 ((y = 1*)(y* + 6y** + - + 4358y — 1)
c2,C4 (y =Dy — 229" + -+ Tdy — 1)
c3,C8 Py 21y - + 16y — 64)
C5,C6,CT

€10, C11,C12

(y® — 5y? + 6y — 1)(y* — 64y™ +--- + 13y — 1)

C9

(3 — 5y% + 6y — 1)(y*° — 4y + - .- — 43479y — 3025)
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